How convincing is interpretation A about which king was the most successful? [8 marks]
A: The Wars of the Roses was a terrible period for England. Law and order was non-existent, and you were never safe from battle. King Henry VI was useless, he was too busy praying to care for his people, and Richard III was a tyrant, who removed his enemies without a fair trial. The one shining light was Edward IV, who after he reclaimed the throne ruled fairly and justly with very few issues. 
How convincing is interpretation A about which king was the most successful? [8 marks]
 
B: The Yorkists kings, Edward IV, Edward V and Richard III were frauds! They were not the true Kings of England. They ruled with an iron fist acting like tyrants. They had their enemies killed or executed and they always resorted to war instead of negotiations. Henry VI, the true King of England, was a fair, just and gentle man who disliked war and cared about his people.

